Ex: 
$$f(x) = \chi^8 - 7\chi^6 + 2\chi^4$$
  
 $f'(x) = 8\chi^3 - 42\chi^5 + 8\chi^5$   
 $f''(x) = 56\chi^6 - 210\chi^4 + 24\chi^2$   
Second derivative of  $f$ ,  $(f')'$   
 $f'''(x) = 336\chi^5 - 840\chi^3 + 48\chi$   
Third derivative of  $f$ ,  $(f'')' = ((f')')'$   
Notation: Second Derivative:  $\gamma'' = f''(x) = \frac{d}{dx}(\frac{dy}{dx})$   
Third Derivative:  $\gamma''' = \frac{d^3y}{dx^3} = \frac{d^2y}{dx^2}$ 

• N<sup>4</sup>h Derivative : 
$$y^{(n)} = f^{(n)}(x) = \frac{d^n y}{dx^n}$$
  
Ex: Let  $y = \frac{x^2}{x+1}$ . Find  $y' \notin y''$ .  
M2:  $y': Q_{notient} R_n le = \frac{x^2}{2x} \frac{x+1}{1}$   
=>  $\frac{2x(x+1) - x^2}{(x+1)^2} = \frac{2x^2 + 2x - x^2}{(x+1)^2} = \frac{x^2 + 2x}{(x+1)^2}$ 

$$y'': Quotient Rule to y' = \frac{x^{2}+2x}{(x+1)^{2}} \frac{x^{2}+2x}{2x+2} \frac{(x+1)^{2}}{2x+2}$$

$$= \frac{2(x+1)}{(2x+2)(x+1)^{2} - (x^{2}+2x)2(x+1)} \frac{((x+1)^{2})^{2}}{((x+1)^{2})^{2}} = \frac{2(1)}{(x+1)^{3}}$$

$$= \frac{2(x+1)}{(x+1)^{4}} \frac{(x+1)^{2} - (x^{2}+2x)}{(x+1)^{3}} = \frac{2(1)}{(x+1)^{3}}$$

$$\therefore y' = \frac{x^{2}+2x}{(x+1)^{2}} \frac{i}{x} \frac{y''}{y''} = \frac{2}{(x+1)^{3}}$$

$$= \frac{\xi_{x}: \text{ Suppose } y = \frac{1-x}{1+x} \cdot \text{ Find } y'''}.$$

hol: For y', use QR 1-x x +1  $= y' = -(1+x) - (1-x) = -\frac{1-x}{(1+x)^2}$  $Y' = \frac{-2}{(1+\chi)^2} = -2(1+\chi)^2$ =>  $\gamma'' = (-2(1+x)^{-2})' = (-2)(-2)(1+x)^{3} = 4(1+x)^{3}$ =>  $\gamma''' = (A(1+\chi)^{-3})' = (A)(-3)(1+\chi)^{-4} = -12(1+\chi)^{-4}$ Exercise : What is y 1101 7 Application & Second Derivative: Acceleration Given 2 position function SIEI, VIEI= velocity = S'(E). If we take one more derivative, we get a(t) = acceleration = v'(t) = s''(t)Trate of change of the velocity rete of change of the rete of change of position

Ex: Given position function 
$$S(t) = 2t^3 - 7t^3 + 4t + 1$$
,  
find acceleration after 1 second. (in meters)  
Aol: We need  $S''(1) = V'(1) = a(1)$ .  
 $V(t) = S'(t) = 6t^2 - 1At + A$  m/s  
 $i$  taking its derivative  
 $a(t) = v'(t) = 12t - 1A$  m/s<sup>2</sup> (meters)  
 $e^{ex}$  second  
 $s_{vared}$   
 $\therefore a(1) = 12(1) - 1A = -2 m/s^2$   
Derivatives of Loganithmic Functions  
Recall:  $a^{y} = x = 2 \log_a(x) = y$   
 $e = 2.718...$   $e^{y} = x = 2 \ln(x) = y$   
 $= \lim_{x \to \infty} (1t_{x})^{x} \cdot \frac{d}{dx} [a^{x}] = a^{x} \ln(a) = a^{z} e^{\ln(a)}$   
 $\therefore$  Timplicit Differentiation  
 $e_{3} \cdot xy + e^{xy} = sin(y)$  O Differentiate both sides of equation  
 $\lim_{x \to \infty} (1t_{x})^{x} \cdots (2 solve for y)$ 

$$\sum_{x} (x) = 10, x = 10 = 3a^{y} = x = 2ba^{y} = 10$$
  

$$= 3a^{y} = x = 3a^{y} = x = 2y^{y} = 8$$
  

$$= 3a^{y} = x = 3a^{y} = x = 2y^{y} = 8$$
  

$$= 3a^{y} = x = 3a^{y} = x = 2y^{y} = 8$$
  

$$= 3a^{y} = x = 3a^{y} = x = 2y^{y} = 8$$
  

$$= 3a^{y} = 2 \cdot 2 \cdot 2 = 8x$$
  
Back to derivatives...  
Q: How do we compute the derivative of  

$$y = \ln(x) \quad (ar = ba_{a}(x))?$$
  
Ans: Rucall that  $y = ba_{a}(x)$  is the same  

$$as = \frac{a^{y} = x}{a^{y} = x} \quad Now \quad bets \quad nst \quad Implicit \quad D; ff.$$
  

$$inner = y$$
  

$$(ar = y)^{y} = \frac{1}{a^{y} \ln(a)} = \frac{1}{x \ln(a)} \quad (a^{(y)} \ln(a)) y'$$

$$\frac{d}{dx} [ log_{a}(x_{1}) ] = \frac{1}{X ln(a)}$$

If we instead take our base a=e, we have loge(x)=ln(x) é ln(e)=1, to...

$$\frac{d}{dx}[ln(x)] = \frac{i}{x}$$
Keelly
important!

If we now combine 
$$J$$
 with the chain  
rule, we get  $outer = ln(\cdot)$   
 $\frac{d}{dx} [ln(g(xn))] = \frac{1}{g(x)} \cdot g'(x)$   
=>  $\frac{d}{dx} [ln(u)] = \frac{u'}{u}$ 

 $\xi_{x}$ : Given fixs =  $ln(\frac{x}{x-1})$ , find f'ixs.